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4, EURILRE 2NO +C12—2N0CT JHETER Ry, Hls r et
MRBLE G
5. X FAILMOKR, BOHEF SR IERE TR

A:0.1 mol - dm—3 C6H1206 B:0.1 mol - dm—3 NaCl
C:0.1 mol » dm-3 CaCl2 D:0.1 mol - dm—3 HAc
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10, AEZK A5 NaOH [i] fA 4 58 4 Vi e, T2 10 et 9 52
L CEHE. PRREUAR), WM pHME  GHE:IE. B
fREAAE) o

11, et [ M 2Hg (1) +02 (g) +2H20 (1) —2Hg2+ (aq) +40H- (aq),
I S RO BT, BB E 82 (E:>0. =0 B0
12 JEIRER, SR N2 (g) +3Hz (g) =2NHs (g) AR HEFHIHHCH K 6,
WU J2 B NH3 (g)= 1/2N2(g) +3/2Hz (g) ISP H B2

13 WYRAER AT RIS, AR B RAR RN E . &)F
B7 J PR I BIAR OR35S AEBE DR SR AVE AR i W
14, CFIRM

C(fi58) +02(g) ~C02(g) AHm 6 (298. 15K)=-394k] « mol-1
C(&MI47) +02(g) ~C02(g) AHm6 (298. 15K)= 396 kJ + mol-1

W 4=NIA I AHm 6 (298.15K)=  kJ/mol.

15, FE—RPBL, 7E 140°CH ) [ MIEZH BN 5. 5X10-7

s-1, 185°CHI FI R B H HON 9. 2X 10-6 s-1, I 1M S5 37 I35 1k B Ok
16, A1 CaC03(s) = CaO(s) + C02(g),

AH 0 208 15k=178. 3kJ/mol, ~ AS 0 298. 15k =160. 4]/ (mol + KD, It
FIAERRERS Nl A RIEATIRERIRE Te h o

17, JXM 3A2+ + 2B=3A+2B3+, {EARAEIRZS T, mMIFzIHy 1.8V,
MR EER, S BIFR FR FENF A 1.6V, UL 2 S R 1eK 0 {5
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18, EH L REKIEM. VK. KR BAMASLN R4
hEA M.
. AR (R 2 o)
()1, 298K I, ARE &AM HJ5T, HArrEEE /KM Sm o (B, 298K)=0.
()2, Imol 100°C, 101325 Pa "I HJ/KAR B [AJif [F) 5 N 7K 2897, 1%
AR AH=0,
()3« ARG VAR 2 — X FEHEIR AR, St AT — ) i ik Bt
NS AT R R R R
()4, JFHEIBAY E 0B, K 0 K, Fir DL S L RT3 388K
()5 JMLII BT SR 75 R = b s S o B 2R B
()6 SRR SG C(s)+H20(g) = CO(g)+ Ha(g), HHTHEEHFEAM
AT B R CAXHED RRAIARSE, BT A N 775~
IR o
()7 AR MR R R, T 08 T RN, BEAR T i
BE. 1B SHT)E, HEATIAS B AL AP BRI B R B AL
()8, MERHHTT T8 KE, HS-RERMR S,
()9, F—PBHMHES HRERSH R, HMEL

Sm® (g) > Sm6 (1)> Sm6 (s).
()10, AHFENREET, [F—F5 iR RO, VAWRINIE 1% i)

/N
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1. CRRETLFNIN S AR 2 H a0 h
R=8.314 J/(mol - K)
CO(g)+ NO(g) ~C02(g)+1/2 Na(g)
AtHn 0 (kJ/mol) -110.5 90.2  -393.5 0
Sm 0 ( J/(mol «K)) 197.7  210.8 213.7 191.6
THEOZ R NAE 298K ARAEIRZS T HIAGm 0 AT K 0, FFHIr B &SP
Jital. (10 73)

2. OV HAc HIfR 4 Ka 6 =10-4. 76,
(1)K 0.1 mol - dm—3 HAc HJ pH.
(2)HAc F1 NaAc IR A 0. Imol « dm=3, RiZIEA W pHe

(14 47)
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3. BRI — RN — B IRIEN, ST 10 738l e, SN T
1/3, K NAE> 3/4 I B Z R E . (10 79)

4. ORI R bRE RS & 0 (Cu2+/Cu) =0. 342V,
¢ 0 (Fe3+/Fe2+)=0. 771V HIX P~ HUAR AL B J5 rEiR, 1Kl 2 -
(1) FIWTAR RS T Z A B IR AR, FF4E IS H I OB
(2) 5 H 12 H s g T 2
(3) THEC Rt S B AR HE T 47 H 2 K 6 (298. 15K) AT A G 0
(298. 15K) ; 1F (#5411 28)=96485 C * mol-1
(4) 3k c (Cu2+)=0. Imol * dm=3, c ( Fe2+)= c(Fe 3+)=1.0mol * dm-3

I, N B REAT I . (16 99)
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